+9,27
+8,47
18,08
13,65

42,90

,14
-0,77
-1,05

-0

_+1,85
—+0,80
- -0,02
=014

[T

[T OO T

l

|| |=] | =l = =] S
IR
===
EﬂEﬂEﬂEﬂEﬂg
— || |— =l =l =IlH
IEIEIEIEIEL

8 =lI=IEIEIEIE

IEIEEEE
il
SIEEIEEE
M=ISIESIEIE
HEHEHEHEHEJ
M=M= —T—T]
=TT
===
|| |—| ||| =] =
IEEEEIED
= ===
IEEIEEIE
S=E=IEETE
IEEIEEIE
IEEIEEIE
il
il
HEHEHEHEHEA
(M=
i
= ===~

IE=IEIE=EE
IEEIEEIE
Sl=E=IEETE
IEEIEEIE
S=E=IEETE
IEEIEEIE
NEE=E=E=E=]
Ty
T T
HEHEHEHEHEA
Il
SEE=EIEE
=T==T=T=]]
===
=l==IEIEE
IIEIEIEIEIEL
Sl=E=IEETE
IEEIEEIE
IEEIEEIE
Ty
I
HEHEHEHEHEM
[T T T
SIS
EHEHEHEHEH;
e e = =
===

y=E=EIE=EIEIEE

===
=IElE=lEE=E
NE=I==q==]]==]]==]

[T

SlE=IEIEIEIE
IEEEELE
IE=EIEETEE
T T T e
il I
MEMEMEMEMEA
I
I=I=T=l=1]
== ==

]

===
ElEIEELE
sl=l=l=I=]1E
===
(===
||| = ===
| [ [[=] | = ==
=]
SEEEEE

r

37

>

+8

+9,27_
+8,47_,
o 2>
+7,57-,
+5,80,
+3,65.,

14

-0

+2,65.,
42,05,
+1,00.,
0,02
T 44 &

EI=EEIEIE]
|

mEMEMEMEMEA
[EI-T-T—T=]
I=T=l=1]
=== =15

== =] =]=]
S
EEEEIELD
slIEIEIEIEIE
EEEEIELD
HEHEHEHEHEL
EEEEE
T
mEMEMEMEMEA
I
T
sSIEEIEIEIE

(===
IE=lE=E=E=E=]
e e e e
IE=lE=E=E=E=]
HEHEHEHEHEA
IE=lE=E=E=E=]
S==q==j==jl=
IE=E=E=E=E=]
Sl=g==jl==]l=l=
I=E=EEE=]

1 | — | | — | | — | |— | |

-1,16

—l=

14

14

HOMLOKZATI FELULETKEPZES

o
. -]
< ‘7 = [ N
s 2 ENYLSL 2
B £ 3 2= ee |2 :
> _ =] o
: 2 [RE=E £
= -4 = =) (o]
]
= =k
v = < B
) »
s |2 | DE
) o
m o5 O
. e W
. -1 .
o~ | ¥ = o
Ee | 25 =
R * h_lu. =
L = -/u,rw O &)
=
= S = |
S = == Im
[|Em| =
A 3| =22 @ |z
I w I
|22 gF
e o N M
B el B G
HEE: F OF B
A S~ B =l
M g
._am W )
.._/_SM 8 =
P 2 (s E 8
)‘0W N W
ponll 15 3 )
N |z o =)

HORNYOLT CSEREPFEDES
2 NYERS TEGLA FELULET
3 KOPOROS VAKOLAT

4 CEMENT LABAZAT
7 ACELSZERKEZETU NYIiLASZARO

8 FASZERKEZETU NYILASZARO

5 BETON ELOLEPCSO
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9 FEMSZERKEZETU ELOTETO, POLIKARBONAT HULLAMLEMEZ FEDESSEL

10 ACELCSO KORLAT




